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DSSSB & Wo-U=At T fergersor =

S.N. Exam NAME EXAM DATE/TIME Reasoning
DSSSB

I. DSSSB, PRT 2021-2022 26x20 =520
2. DSSSB, PRT 15.11.2019, 12:30-2:30 pm 20

3. DSSSB, PRT 15.11.2019, 8:30-10:30 am 20

4. DSSSB, PRT 14.11.2019, 12:30-2:30 pm 20

5 DSSSB, PRT 14.11.2019, 8:30-10:30 am 20

6. DSSSB, PRT 13.11.2019, 4:30-6:30 pm 20

7. DSSSB, PRT 13.11.2019, 12:30-2:30 pm 20

8. DSSSB, PRT 13.11.2019, 8:30-10:30 am 20

9. DSSSB, PRT 11.11.2019, 4:30-6:30 pm 20

10. DSSSB, PRT 11.11.2019, 12:30-2:30 pm 20

11. | DSSSB, PRT 11.11.2019, 8:30-10:30 am 20

12. | DSSSB, PRT 11.11.2018, 8:30-10:30 am 20

13. | DSSSB, PRT 10.11.2018, 8:30-10:30 am 20

14. | DSSSB, PRT 06.10.2018, 12:30-2:30 pm 20

15. | DSSSB, PRT 06.10.2018, 4:30-6:30 pm 20

16. | DSSSB, PRT 13.10.2018 20

17. | DSSSB, PRT 2018 20

18. DSSSB, PRT 2017 20

19. | DSSSB, TGT/PGT 2021 6x20=120
20. | DSSSB, TGT 2016 20

21. | DSSSB, PRT, Post Code-16/17 29.10.2017 20

22. | DSSSB, PRT, Post Code-70/09 02.02.2014 20

23. | DSSSB, PRT, Post Code-150/14 19.10.2014 20

24. | DSSSB, PRT, Post Code-71/09 & 101/12 25.08.2013 20

25. DSSSB, PRT (Special Education),Post Code-01/13 28.07.2013 20

26. | DSSSB, PRT (Cancelled), Post Code-70/90 29.12.2013 20

KVS

27. | KVS, TGT 2018 10
28. KVS, TGT 08.10.2017 10

29. | KVS, PRT 20.12.2018 10

30. KVS, PRT 2017 10

31. | KVS, PRT 2016-17 10
32. KVS, PRT (Music) 2016 10

33. | KVS, PRT 16.12.2017 10
34. KVS, PRT 04.10.2015 10

35. KVS, PRT 15.12.2013 10

36. | KVS, PRT 2010 10

37. KVS, Assistant Teacher (Nursery) 31.08.2014 10

38. KVS, Vice- Principal 2018 10

39. KVS, Principal 2016 10

NVS

40. NVS, TGT 28/29/30. 11. 2022 6x10 = 60
41. | NVS, TGT 18.09.2019 (I & II) 2x10 =20
42. | NVS, TGT 2017 10

43. NVS, TGT 15/16/. 12. 2022 4x10 =40
44. NVS, PGT 19.09.2019 (I & 1) 2x10 =20
45. | NVS, PGT 2018 10

46. | NVS, PGT 2016 10

NCERT
47. | NCERT, PRT 30.07.2017 20
Total 1440

A~ IWH IH-T & T2 9901 % 3T DSSSB (PRT/TGT/PGT), KVS (TGT/PRT/PGT/Nursery) ,
NVS (TGT/PGT), NCERT (PRT) ¥ T&f-9d $& T (TH9Ifh) = 1440 (a0 + I Ygfd aret T94) 91 0l
A et & qdenm AW & W A Sre fear man @ @it whendf ye qee # i S o i |

3




gd ufierett o U T weHi Rl
fargaueTe: utg =i Ue 9} AR

e e, 67 TR v, 69 fafea, 21w afgeen e

T U/ 3T/
HIE /3T, 75 e wEET, 198 o 40

228
— 213
—_ 198

— 181

134
m[ 105 112

108
|| |‘ li I‘
...... I_--_ll--_--

oy L w@’
ff@“f@ fﬁ ﬁf@“’f z“"
ff“‘@ &




| FgHT T Aifeheh 470

(General Intelligence and Logical Ability)

witE/feamiten

(Coding/Decoding)

1. U& fafya g v o, afe TELEPHONE &t
FOPIQFMFU % &7 ® whifgd feram o §, ot
INTERCOM &I ¥ shifea feram smam?

(a) NPDFSUJO (b) NDFPSUOJ
(c) NPFDSUOJ (d) NPDSFUOJ
DSSSB PRT 30/03/2022 (Shift-III)

Ans. (d) : 519 99K,
U

L=ty Tm “l“

+1
+1
3 THR,
INTERCOM NPDS F UO ]
| ——— TT i
B
+1
+
+1
+1
2. In a certain code if '859' means 'cab de tas',

'684' means 'tor tas rot' and '471' means 'tor be
for'. Then what will be the code of 'rot'?

uer fafyya @rs o afe ‘859 @At 3ref 'cab de
tas' €, ‘684" T 31 'tor tas rot' T 3T 471"’
T 37 'tor be for' &, A 'rot'HT SIS AT TT?

(@ 6 (b) 8
(c) 4 (d) 7
DSSSB PRT 30/03/2022 (Shift-IT)
Ans. (a) :
HiS = - 998
@ 59 cab de
6 @ rot
7 1 be for
I: WY § % 'rot' & HIT '6' I

3. Given below is a question followed by two
statements - I and II. Decide which of the
statements is/are sufficient to answer the
question.

ot wew wom fomm e & fweR eg & w1
3R 11 feu 7w € faoter =ifvg fe sA-Tra
AT YT T I G o T v 2R

What is used for 'good' ?

'Good' TerTanT 31ef &2

I. 'YaNa Sa' means 'l am good' and

'Sa Na Ke' means 'l am hungry'.

'"Ya Na Sa' &t 31ef & 'Tam good' 3R

'Sa Na Ke' &7 312f & ' am hungry'.

'Pi Ya Se' means 'She is good' and

'Ya Su To' means 'You are good'.

'Pi Ya Se' T 31¢f & 'She is good' 3R

'"Ya Su To' AT 372t ¥ "You are good'.

(a) I alone is sufficient while II alone is not

sufficient/3Thell 1 9aid & afh 3ther 11
T T @

(b) II alone is sufficient while I alone is not
Sufficient/3he 11 Taf@ & w@f SThar 1
T T @

(c) Either I or II is sufficient/aT 1 1 9t 8

(d) Neither I nor II is sufficient/q TITE I

e 2

I1.

NVS TGT 28/11/2022 (Shift-I)

Ans. (¢) : HIF-I -
Ya [Na Sa] —> [I_am| good

Ka —> hungry

FH-11
Pi Se —> She is [good]
Su To — You arem

-1 3 11 21 9 good il F& Ya ¥ & I8 WId &

Eid
I HUF-1 AT HEH-I1 T3 &l SR 34 & fow waie 21

4. If BRANCH is coded as '12-14-16-18-20-22'
and 'STARE' is coded as '24-28-16-14-26', then
how would you code TRACE?

Coding/Decoding

YCT



Ife 'BRANCH & '12-14-16-18-20-22' o &0 |

ifsa feram T & 3 'STARE' &t '24-28-16-

14-26' & ®q ¥ wifsa fwar wew g, @ o

'"TRACE' &l ¥l RIg &T?

(a) 28-14-18-20-26 (b) 28-15-16-20-27

(c) 28-14-16-20-26 (d) 28-14-16-21-26
DSSSB PRT 27/03/2022 (Shift-111)

i

28 16 1426
TN
E

Ans. (c) : IRAMEHR,

i

12 6
I HE
T R A
28 14 16 20 26

5. If PILOT = 63, RICE = 73 then RULE = ?
Ifg PILOT = 63, RICE = 73 @ RULE = ?

«—
Re—w @
rE—®

—_
=)

jrs]
[
—

q’{_

«—n Y

(a) 65 (b) 63
(c) 52 (d) 56
DSSSB PRT 27/03/2022 (Shift-T)

Ans. (c) : 59 JR 3R
P 1 L O T R1 C E
K R O L G I R X V
11+ 18 +15+12 + 7=63 9 +18+ 24 +22=73
3! R -
R U L E
I F O V
9+6+15+22=52
6. If 'PLATE' is coded as '11-15-26-7-22', then

how would you code 'PLANTIFF'?
afe 'PLATE' & '11-15-26-7-22' & ®q
wited fowar o , @ 3T 'PLANTIFF' &t
FH RfST HE?
(a) 11-15-26-13-7-18-21-21
(b) 11-15-26-18-7-18-21-21
(c) 11-15-26-13-8-18-21-21
(d) 11-15-26-13-7-16-21-21
DSSSB PRT 27/03/2022 (Shift-IT)

Ans. (a) : 59 791,

s

oe——1t
Re—p T

I“J

3

)’

i

11 1526 13 7 18 2121

¢ —

Note - BRI 3 3% RS T ¥ Bfed e T 3

7. If darkness is called night, night is called
morning, morning is called light, light is called
sunshine and sunshine is called evening, then
when does the sun rise ?/’Glﬁ.{ ITUEHR H T

e T ¥, UG B GIE el AT, GIE hl
ST el AT &, ST o &0 et 74T § iR
&I ST I el T4 &, A YIS ol 3T & ?
(a) *H (b) ¥4
(c) §Te (d) 3sfreT

DSSSB PRT 26/03/2022 (Shift-II)

Ans. (d) : 3YHR —> T
qd — gde
gag —> 3Slledl
3STeAT — gq

g7 —> W
T YA I E @k YA H GIw B I

el T 21 T ST T W 2

8. Tfe dter &1 =t fiem, it 1 Whe, The T
T, B Rl A1 3R F1ST il AT gl Wl §
TS TET T TT AT B2
(a) TS
(c) &0

(b) e
(d) et
DSSSB wrzadt fyteren wdiat (02.0.2014)

ns : (¢) 9 TT F TT TS BT & Tg TS B &
T T 7| 37 g9 S T g4 2

9. In a certain code language, ‘IT’ is coded as 58,
‘SAD’ is coded as 48. What is the code for
‘Fish’ in this code language?
e fafyte wig amr ®, 1T @t ‘58 feram smar
¥, 'SAD' =l ‘48’ feTaaT ST 1 30 WIS WuT |
'FISH' ST I &RIT & ?
(a) 64
(c) 92

(b) 42
(d) 84
DSSSB PRT 07/03/2022 (Shift-T)

Ans. (d) : N9 TR,
I T SAD
9+20=29%x2 =58 19+1+4 =24 x2 =48
3 T,
FI S H
6+9+19+8 =42 x 2 =84
In a certain code language 'CHAPTER' is
coded as 'EKEUZLZ'. What is the code for
'STUDENT!" in this code language.

10.

111
Coding/Decoding

YCT



us fafye @i wor W, 'CHAPTER' <&t
'EKEUZLZ' fear wirar &1 39 g Wmr ®
'STUDENT' T Al &RIT &7

(a) UWYILVB (b) UWYIKUA
(c) UWYILUB (d) UWYIKUB
DSSSB PRT 16/03/2022 (Shift-IT)

Ans. (d) :

g &R, 34 TR,
C—2>E S —2,[U]
H—>K T—25(W

A_*# SE U_—= 5|Y

P_+ ,U D_# |1

T_ s JZ E_+ K
E—>L N—5|U

R—2 57 T—2>|B

11. In a certain code language, 'he is bad' is

written as '& # §', 'is you bad girl' is written as
'O$#+', 'girl is going' is written as '#O*'. What
is the code for 'you going' in this code
language?

e fafyTe wrg 9rer o, he is bad’ &l ‘& # $
forar s 2, cis you bad girl’ w0 S #
forar s €, ‘girl is going’ ® # © * fean
AT §1 3@ RIS 9T | ‘you going’ T HIT

= 272
(a) #+ (b) - $
() +© (d) *+
DSSB PRT-29/12/2013
DSSSB PRT 24/03/2022 (Shift-IT)
Ans. (d) :

& A ®

he &
A\ yu @ E=-[g ® A+
A going A ¥

Waﬁﬁ@w%ﬁ%yougoing'ﬁm%*‘%l
12. Ui €2 o DSt HE T §, B Rl TR HEl
T ¥, W R GE el T §, g @l anm
HE AT T AR UT TR wEr T E, ar

ferem o T =y femam ST 82
(a) @mm (b) B
(c) wd (d) ¥

DSSSB PRT 26/03/2022 (Shift-I)
Ans. (d) : f@d & fow w&@m & =@ @@ S 2
Sefh g § S 1 g Fa1 T 2
7: foraa & fow g wam fepar s 21
13.

In a certain code language ‘G’ is written as ‘20’
‘AT’ is written as ‘3’. What is the code for
‘WORD?’ in this code language.

e fafdTE g amr ®, <G @ <20’ fomar Smar
£, ‘AT’ @I 33° Fer@r ST #1539 e e #
‘WORD’ hT IS &IT &7
(a) 48 (b) 45
(c) 55 (d) 58

DSSSB PRT 24/03/2022 (Shift-III)

Ans. (a) : 59 99R,

G —7 5 T(20)

qdqr

AT "5 7G(26+7) = 33

34 TR,
WOR D

faofiq sar L L1 4
DLIW

=4+12+9+23
=48

14. Uw faye =g omr W, ‘PRINCE’ ol
‘NOEIWX’ ferar Smar 21 3@ whis @ier o
‘ACTION’ T ShTS &1 &7

(a) YZPEJG (b) YZPDJG
(¢) YZPDIG (d) YZPEIG
DSSSB PRT 24/03/2022 (Shift-I)

Ans. (¢) :
S8 5w,
P RI NCE
2131415167
NOEITWX
34l TR,
ACTTI1 ON
2134567
[Y Z P DT (
15. In a certain code langage,

T Tfvera i W H,

"72' means 'very good'

‘72" @1 21ef ¥ 'very good’

'216' means 'a good day'

‘216" T 312t ¥ ' a good day’
'643' means ' day is beautiful.
‘643" T 31t ¥ 'day is beautiful'

What is the code for 'day’'.
'day' % ToTu e =T 37

() 4 (b) 2
(©) 7 (d) 6
DSSSB PRT 26/03/2022 (Shift-III)

Coding/Decoding

YCT



Ans. (d) : T ™ FE I-
?®= very
OB + G

43 = is beautiful
wy 2 & day & foIC @i ‘6’ B

16. In a certain code language 'VIOLENT' is
written as 'ZMSHIRX'. What is the code for
'CORDIAL' in this code language?

T fafdie wig W #, 'VIOLENT' &t
'"ZMSHIRX' fo@r wimar €1 3@ whig wmr o
'CORDIAL' & I ST & ?

(a) GSUZMFP (b) GSVZMEP
(c) GSVZNEP (d) GSUZNEP
DSSSB PRT 25/03/2022 (Shift-IT)

Ans. (b) : %ﬂ? T,

O L E NT
l+4 l+4 +4 |4 +4l+4 +4
Z M S H I R X
34 TR,
O R D 1 L

[G S VZME P]

17. In a certain code language, 'SLOWERS' is

written as 'VUHZROV'. What is the code for

'NATURAL' in this code language?

T fafde @g wmr @, 'SLOWERS' &t

'VUHZROV' fer@ar e &1 3@ whig 9 o

'NATURAL' ST &I T 872

(a) ODUYXDQ (b) ODUXWDQ

(c) ODUXXDQ (d) ODUYWDQ

DSSB PRT-29/12/2013

DSSSB PRT 25/03/2022 (Shift-T)

Ans. (b) : ¥19 99K,
SLOWERS VUHZRO

=S
S TR,

+3
NATURAL ODU

3
+3
| | ﬁ jj]‘

.*.3
+3
+3

|

XWDQ

18. In a certain code language

e ffYera s e g,

'traders are trading gold' is '1234'
'traders are trading gold' '1234' 2l
'they are in demand' is '4567'
'they are in demand' '4567' 2l
'demand dollars for gold' is '1589'
'demand dollars for gold' '1589' 2l
'traders pay in dollars'is '2 6 9 10'
'traders pay in dollars' '2 6 9 10' 2l

What is the code for 'pay'?
'pay' & 1T hig =T &2

(a) 9 (b) 5
(c) 6 (d) 10
DSSSB PRT 25/03/2022 (Shift-III)
Ans. (d) :

trading gold IA 3 @
in [@omand] D] 6 7

[demand f{ dollars } for gold 1 8 (9]

e oy o @) Ao [ 10

'in' % fT Fie 6 21

they

3qq: 'pay'%ﬁﬂaﬁg 10 21

19. In a certain code language, if ARMADILLO is
coded as MRAIDAOLL then how will
TRAVELER be coded!

s Ay shrg wmer ®, afe ARMADILLO &t

MRAIDAOLL & &9 ¥ shifgq feram e g, v

TRAVELLER &1 ¥ @hifea feram smam?

(a) ARTLEVREL (b) ATRLEVRLE

(c) ARLTVEREL (d) ARTELVREL
DSSSB PRT 30/03/2022 (Shift-I)

Ans. (a) : 59 7R,
ARM ADTILLO

>l<

M R A
ww
V E L

I DA O LL

L ER
[ART LEV RE L

20. If 'MOURNFUL' is written as '"MOURLUFN'

then how will '"CURATIVE' be written in the

same code language?

gfe ‘' MOURNFUL’ &t ‘MOURLUFN’ & &0 §

forar e &, @ 34t s Wt # { CURATIVE'

Y Temar s ?

(a) CURAEVTI (b) CURTEVIA

(c) CURAEVIT (d) CUEARVIT
DSSSB PRT 29/03/2022 (Shift-T)

Coding/Decoding

YCT



Ans. (¢) : B TR, =4 T, 1219315144 fa@T wTar &1 3@ @IS AT ®
M OURNTFUL CURATTIVE DESTROY T Shig oI &7?
l l l l l l l l X (2)451920181525 (b) 45192018125
(c)451920181425 (d) 451920191525

MOURLUFN |CURAEVIT| DSSSB PRT 23/03/2022 (Shift-II)
21. In a certain code language '834' means 'clothes ||Ans. (a)

are expensive', '975' means 'cotton is rare' and | |79 S&R,

'3427" means 'cotton clothes are comfortable'. || | FA THER ABSCOND

Which of the following means 'Comfortable' in

hat language? U] U

q%sﬁrf}gﬁaﬁg a:msrrﬁ, ‘834" T 3tk T([1251208518 1219315144

'Clothes are expensive', '975' <hT aref &  Cotton | |3 7&K,

ia rare’ 3T ‘3427' @ 319 & 'Cotton clothes |[DES TR O Y

are comfortable'| Tt § & fermenr 31t L L i il

39 HTHT H ‘comfortable’ %7 451920181525

% g %Z Note - 3%&RT F1 FUIHIET HH/F & Fifeq Bran w1 31

DSSSB PRT 29/03/2022 (Shift-IIT)
Ans. (a) : & T #1E g,

8 @ = @ expensive
9 A 5 = is rare
@ 2A:AKMkImhcﬂ comfortable

31: comfortable FT IS '2' BT

22. In a certain code language 'BAT' is written as
'YZG'. How will 'STRANGLE' be written in
the same code?

Teh T3y shig 9reT o ' BAT' &l 'YZG' & &0

H fer@r e 1 3H wig ¥ 'STRANGLE' @t

¥ ferar wmEm?

(a) HGIZMTOV (b) HGEZMTUV

(¢) HIIZMTUV (d) HGIZNTRV

DSSSB PRT 29/03/2022 (Shift-1T)

Ans. (a) :
o &R, ERIEIE
B%Y LEIN:
A————>7 T ford s G

feadia s
T——G LN

A Pt
N

G%ﬂﬂ?{w

feafa smR
s

o 5 2 N

L feada smR

V|

In a certain code language, ‘LEATHER’ is
written as “1251208518°’, ‘ABSCOND’ is
written as ‘1219315144°. What is the code of
DESTORY in the same code language?

T fafde e wror ®, 'LEATHER' &t

1251208518 for@m ar €, 'ABSCOND' @t

E famlid smR

23.

24. In a certain code language, 'You are good' is
written as '@$#', 'Good boys like you' is
written as '&*@#,' 'l and you go' is written as
'©<+@'. What is the code for 'boys are like' in
this code lanaguage./Us fafdte g wmr o,
'You are good' Ea) '‘@$#' Ter@r Srar ¥, 'Good
boys like you' ) '"&*@#' T Sran %, 1 and
you go' &l 'O < + @' fer@r wrar 31 3@ WS
THT ¥ 'boys are like' ST IS T &2

(a) *$+ (b) $ &#
(c) &S @ d *&$
DSSSB PRT 23/03/2022 (Shift-11I)
Ans. (d) : fea ™ #is g,
v GD-[@s @

boys like[you] = & «[@] @

L @ - Qg
oE 2 % boys are like &1 IS * & $ 7|

25. In a certain code language, 'IN' is coded as '23',
ARE is coded as '24'. What is the code for
'HUNGRY' in this code language?

e fafdte s wmr ®, "IN & 123" ferar smar
¥, "ARE' &l 24" fom@n S 81 39 g wmor o
'HUNGRY' &l &g &I §7

(a)97 (b) 84
(c)87 (d) 93
DSSSB PRT 20/03/2022 (Shift-I)
Ans. (d) 59 7&K, 3R
IN=23 ARE=24
9+14=23 1+18+5 =24
23=23 24 =24
3G THR,
HUNGRY =?
8+21+14+7+18+25=7
93=29

Coding/Decoding

9

YCT



26. In a certain code language ‘SMILING’ is coded
as ‘9342416°, ‘HENCE’ is coded as ‘85175’,
what is the code for ‘MINE’ in this code
language?

T fafyre @i wmer H, 'SMILING' @t
'9342416' fer@T ST €, 'HENCE' & '85175'

for@r =IraT &1 39 WIS 9T § 'MINE' T i€

= §?
(a) 3415 (b) 9415
(c) 3425 (d) 3615
DSSSB PRT 16/03/2022 (Shift-III)
Ans. (a) : f&@r %\—
SMILING HENCE
LI 3R VNS
9342416 85175
I 3Rl ¥ AT s MINE o1 @re-
M I N E
VN
34 1 5
27. 1In a certain code language, 'you can go now’ is
coded as ‘@ # $ &’. 'You come here' is coded
as ‘* © #°. 'Can I come in' is coded as ‘& © %
+’. What is the code for I go in now in this code
language.
e fafyte wrg 9mar ®, 'You can go now' Y
'@#9% &' TeraT srar %, 'You come here' SRl '*
© # ToT@T ST §, ' Can I come in' &1 '& © %
+'ﬁ‘|’@T~‘r|‘lT-|T%I3‘F['él-ﬁ39=|TﬂTﬁ 'l go in now'
W R HATE ?
(a) @%+$ ) $+@*
() @%+# (d S@o+
DSSSB PRT 07/03/2022 (Shift-1I)
Ans. (a) : TRAMER,

&@go now @A$

Aon[omd heee  * [@] A\
G I omdin - @) @] % +

3d: W 8 fF T go innow’ N T @ % +$ BN
28.

In a code language TREMOR is written as
SQFLPQ, then how will FATHER be written in
that language?

Ueh Wichfaeh WTST & TREMOR ! SQFLPQ
feram Srar &, o et 9rar § FATHER &t fRa

e feran see?
(a) DCRJCT (b) GZSGDS
(c) GBUIFS (d) EBSGFQ

NVS PGT 18/09/2019 (Shift-I)

Ans. (d) :
e 7,
TREMOR
B 3! | | I
SQ FL PQ
34 yHR,
FATHER
=1+ -1 -1 = -1
EBS G FQ
Note —: f&& T8 ¥z § @R &I +1 T &SH H -1 FF
Fifed fan mr 21
29. In a code language NOVEMBER is written as

ERMBVENO, then how will DECEMBER be
written in that language?
Ueh Wichfdek 9T W NOVEMBER oAt
ERMBVENO fa@m et €, &t sdft wmer o
DECEMBER ! TerT WehI feraam s ?
(a) ERMBECDE (b) ERMCBEDE
(c) ERMECBDE (d) ERMBCEDE

NVS PGT 18/09/2019 (Shift-I)

Ans. (d) :
[ERAECAS
NOVE MB E R
ERMB VE N O
34 JHR,
DECE MB E R
ERMB CE D E
30. In a code language, SUNSET is written as

RTMRDS. How will CHALK be written as in
that language?
TUeh hI€ 9T § SUNSET sl RTMRDS & ®q

T forar Srar $1 CHALK &/t €t «mer o e

YRR T S|
(a) JKZIB (b) BIZKJ
(c) BGZKJ (d) JKZGB

NVS PGT 18/09/2019 (Shift-T)

Ans. (¢) : N9 TR,
S U N S E T
-1y -1y -1d —1d —1d -1l
R T M R D S
3T YK,
C H A L K
-1y -1y -1y 14 -1
B G Z K ]
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31. In a code language, SUN is written as NUS.

How will MAT be written as in that language?
Tk e o991 § SUN @i NUS ferar smar #

Ans. (c) : 59 TR,
3x4=3"%x4>=916
4x5=4"x5"=1625

3G TR,

MAT &1 3HT 97T # & fore serm?
()MUT (b) TAM
(c)MAT (d) TUM

NVS PGT 18/09/2019 (Shift-I)

T 6 x 5=23625 B

6x5=6"x5"=3625

Ans. (b) : 59 ¥R, 3G AR
S U N M A T
N U S T A M

32. In a code language, TABLE is written as
WDEOH. How will CHAIR be written as in
that language?
T HEHTST ¥ TABLE 1 WDEOH fer@n e

%1 CHAIR =Y SHt oo # S feram smm)

(a) KFDLU
(¢c) LUKFD

(b) FKDLU
(d) DLUKF
NVS PGT 19/09/2019 (Shift-I)

Ans. (b) : B9 ¥R,
201 212 5

TABLE

35. IfSEAT is coded as 4321 and STORM is coded
as 41675. Then MASTER would be coded as :
Ifg SEAT T i€ 4321 & 3 STORM =t
WIS 41675 &, A MASTER T IS oI BITTT?
(a) 534137 (b) 54327
(c) 57654 (d) 524137
KVS PRT N.E.R. 2017
Ans. (d) : IRAER,
S=4 du@ S=4
E=3 T=1
A=2 0=6
T=1 R=7
M=5
St ST 6 I,
M= |5
A =2
S =4
T =1
E =[3
R =7
36. FIRE is coded as 3542 and SOAP is coded as

1768, then PREPARE would be coded as
Ife FIRE T &I 3542 3T SOAP & &I
1768 ¥, df PREPARE T i€ 210

33. fwdt we wmr H 'PRINCESS' &l

'ECINRPTU' @ wmem g1 gt e wmr o

(a) 8446827
(c) 8464872

(b) 8428642

(d) 8648724

KVS PRT N.E.R. 2017
KVS PRT 2016-2017

'SPICEJET' &t forer warre foram staam? Ans. (b) : 5% 4,
(a) JEICPSGV (b) JEICPSFV F=3 @ S=1
(¢) EJICSPFV (d) JECIPSGU =5 O0=17
KVS PRT 22/12/2018 (Shift-I) R=4 A=6
Ans. (b) : 519 ¥R, E=2 P=38
123456 653421 :
PRINCESS—ECINRPTU ST FIET F ST
+] T P=8
i) R = |4
3 TR, E =2
1234 56 653421 P =8
SPICEJET = JEICPSFV A =|6
| ) T R =|4
o E -2
34, T 3 x4=9163T4x5=1625aT 6 x 5ar|37. In a code language DOG was coded as
ey @TIT— CENPFH, then WOLF would be coded as
Ifg He 9T ¥ DOG & CENPFH, & &9 |
(a) 2536 (b) 2036 5 = &
(c) 3625 (d) 3265 Feag fhan T €, @ WOLF =t fohe &
KVS PRT 16/12/2017 Wﬁﬂ_&" S ?
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(a) VXNPKMEG
(c) UXMPSLCI

(b) VZLRPNDH
(d) UZMSRNDJ
KVS PRT N.E.R. 2017

Ans. (a) : 59 TR, 3T AR
A [V]
2Ll \\<
D< T x
TR

AN
0<:
TN,
: <P A |E
G |-'<
*7 A +j
If in a certain code language MUSICIAN is

written as OSUGEGCL, then how can
DIRECTOR be written in that code?

gfg fredt % 9T § MUSICIAN 9168 @t
OSUGEGCL f&@r Smar &, @ DIRECTOR
It g 9T ¥ R faE?

(a) FGTCERQP (b) FKTGEVQT

(¢) FGTGEUQT (d) FGUDERQP

38.

40. In a certain code language, 'De Va ni' means
'music is life', 'ni ko va' means 'life is
beautiful', 'va su te' means 'live long life'.
‘Which of the following means 'beautiful'?

Tk HE 9T A 'De Va ni' 1 37 ¥ 'music is
life', 'ni ko va' ol a1t T 'life is beautiful', 'va
su te' 1 3tk T 'live long life' i & |

beautiful Tere 1sg =T 37ef 37
(a) De (b) ni
(c) ko (d) Va

KVS PRT 04/10/2015
KVS PRT (Music) 2016

Ans. (¢) : foa ™ FE g,
De &—’ music A[EE]

& ko Tifel/is\ beautiful
su te— live long

I Fe § WE 2 % ko’ wsx #1 37 beautiful 7|

41. Tt % wmr ¥ THRIVES &1 SIUHRDU

forar s €1 SHt %e ¥ SOULFUL &t &=

KVS PRT (Music) 2016 forar sram?
Ans.(a): 5 ¥R, 34T FHR, (a) VPTKKTE (b) VPTKETK
M —5 0 D —25|F (c) TPVKKTE (d) TNRKMVG
U —25 I 251G NVS TGT Physics 01/06/2014
S 2, ({ R —2,51|T KVS PRT 04/10/2015
I —25 G E _25|C Ans. (a) : 59 76K
C 2, g c 2. |g THRIVES
I —2> G T —25|R N 11 X
+2 +2 | ~
A > € 0 >1Q STUHRDU
N — L R —>|P = TR
39. In certain language MUSIC is written as S OULEFUL
Atgm+9% and SITAR is written as m+@va@. +
How will ARTIST be written in same code +1 Aaf -1 B
language? ) | ‘1
T T e 9T § MUSIC &t afg Agm+9;, [VPTKEKTE|
feraT @Te, 99T SITAR & i@ ve forar 9, -
F ARTIST 913 1 gt e omen & &t forean 42. Tt ®e v ® CONQUER.ﬁ MNBRQDT
I ferar wmar €1 g5t ®e wmer ¥ STEAMER &t
V@@ b A@a@awm+@ = T smEm?
VP @e+@ d N@+P@ (a) DRSBQDL (b) DSRBLDQ
KVS PRT (Music) 2016 (c) DSRZQDL (d) DSRBQDL
Ans.(a): & 8- KVS PRT 04/10/2015
M US I C—rAﬂmw,/o Ans. (d) : 59 ¥R I THR
- STEAMER
sITAR—>Pl @Y @ CONQUER .
. -1 d . ‘1 -1 -1 -INVA
U Fei BT FANT Flh— { 1“1 1_1 >|'|<+J X
ARTIST—-VO@ﬁL!]@ MNBROQDT [DSRBQDI]
Coding/Decoding 12 YCT



FET U 43 W45 F fam) : ST U9l & ST A
forg =frer &t 1 g we-
fertft wm@ wrg o il be pee' T a1 € 'roses
are blue', 'sik hee' AT 3ref % 'red flowers' 31X
'pee mit hee' AT a1ef § 'flowers are vegetables'.

43. SU R U 'red' HY @ @ €7
(a) hee (b) sik
(c) be (d) 3 ¥ FIE T
KVS PRT 16/12/2013
Ans. (b) : IRATER,
il be —p roses blue
sik — red

mit  [hee|—[tlowers| vegetables
ITfe Hiel ¥ W g B red H He H sik' formn
Sicil

44. IHHS W 'roses' ¥l 1@ AT 87
(a) il (b) pee
(c) be (d) T & fopam ST webell
KVS PRT 16/12/2013

Ans.(d):@'{[?ﬁW@W%ﬁﬁ‘roses"eﬁ?IIT?ﬁilﬁ
Iq be % &Y § Fifed a1 1 Gl 21 fFFew § 3 8,
TOfIT 98 T & e T Febar 81

45. 3@ WS ° 'vegetables are red flowers' Ea)
e e &2
(a) mit pee sik hee
(c) sik pee hee be

(b) pe sik mit thee
(d) il sik mit hee
KVS PRT 16/12/2013

Ans. (a) : Vegetables are red flowers I ‘mit pee sik

hee' % &G § Hifed sich foram ST 2|

46. Tt WM™ T § TWENTY &l 863985 3%
ELEVEN ! 323039 foT@T Siam §, 3@ &g o
TWELVE &% for@r e 87

(a) 863203 (b) 863584
(c) 863903 (d) 863063
KVS PRT 16/12/2013

Ans. (a) :

47. If in a certain code language MYSORE is
written as LZRPQF, then how would SILVER
be written in the code?

gfe Tk HE 99T T MYSORE &I LZRPQF,
forr wmam &, &t 3Ht e 9r § SILVER &t

TR yehr forar st ?

(a) RIKWDS (b) RHRUDQ
(¢) REVLIS (d) THMUFQ
KVS TGT 2014

KVS TGT Work Experience 2017

Ans. (a) : 9 99R,
M Y S O R E
_;l. .l_ .H_ .H
L Z R P Q F
34 TR,
S 1 L VvV E R
[RJ K WD §
48. If Blue means Green, Green means White,

White means Yellow, Yellow means Black,
Black means Red and Red means Brown, then
what is the colour of milk?

gfe e @1 3tef T, T @ 31 Wk, Whe T
3ref dier, dier ot 3tef ST, ST T 27t AT
3T et 31ef ST B A T BT T R BT §2

(a) Black/arem (b) White/T%ha
(c) Yellow/dran (d) Green/0
KVS TGT 2014

Ans. (c) : 89 94 € 5 g8 &1 7 Wha B 8, S
T § §he T1 1 Oier S T g1 o gY H O
gl g |

49. In a certain code language, 'Monday is a
holiday' is written as 'sa da pa na' and 'they
enjoy a holiday' is written as 'da na ta ka'. How
is 'Monday' written in that code language?
feret <h< HIHT b} 'Monday is a holiday' T 'sa
da pa na' AR 'they enjoy a holiday' T 'da na
ta ka' foram wmar 21 Esil CERIL | 'Monday'
= T fora e €2

(a) sa

(b) pa

(c) saorpa/sa A pa

(d) Data inadequate/3Tehe 3Tqae &

KVS TGT Work Experience 2015

Ans. (¢) : TRAER,
Monday is a holiday - sadapana ... (1)
They enjoy a holiday—» danataka ... (ii)

Tt (i) a9r 99 (i) 9-

Holiday — da dT na
a — na dlda
Is — sadTpa

Monday — sa 9T pa.
IWRE FISt 4 Wy & 5 ’Monday'ﬁ??ﬂ?ﬁ sa T pa fomar

ST
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50. In a certain code, 15789 is written as XTZAL | Ans. (c) : F< o ¥ T G-
and 2346 is written as NPSU. How is 23549
written in that code?/fFft W & wmwr ¥ Alwags Cmatc A ba . sha
15789 & XTZAL 31X 2346 & NPSU feran wmar A . Thoughts @A
T 3t e wmar § 23549 @ w forar wme? @ ﬁ
/_“12 N\ Solution to
(a) NPTUL .
(b) PNTSL ‘a"‘il'ﬁ?ﬁ ¥ ¥ 2 % 'Create New solution’ &I F 9o H
(c) NPTSL 'ba i to' T 'sha ri to' for@r A ﬁﬂ fopea o
())NBTSL 'ba ri to' B % FNT faheq (c) T 2|
KVSLDC2015 53 ufy ws @™ @me Wom § MOBILITY &
Ans. (¢) : & Tt 2 T AT F o AR 46203927 fomam wm@r ¥ W@ st wmr ®
15789 2346 EXAMINATION & Ter& yer formam smaam?
Il oIy il (a) 45038401854 (b) 56149512965
XTZAL NPSU (c) 57159413955 (d) 67250623076
S'Q'{[?E 5T HT T BT KVS PGT Computer Science 11/12/2017
° Ans. (b) :
23549 [EERE T TER
LIl M—> 13=1+3=4 i‘5
0—>15=145=6 =24=2+4=6
NPTSL B—> 2 A=1
51. In a certain code language, 'My Best Friend' is [—= 9 \f:; L=
coded as 356, "best teacher best friend" is L—>12=1+2=3 -
coded as 5456, then 'My friend best Teacher' l— 9 A=1
would be coded as: T—20=2+0=2 T=20=2+0=2
ﬁm"r‘aja WS ® 'My Best Friend' & 356 Y—>25=2+5=7 é,;?ﬁ_ R
wra ‘ﬁ, "best teacher best friend" SRl 5456 & N=14=1+4=5
w0 " THeag TeRar T Rk 'My friend best || 37 EXAMINATION ¥s% FH FT 56149512965 2
Teacher' &I ThT ©T A FETG feparr STQT? 54. In a code language the word 'TRIP' is denoted
as 'QJSU'. The word corresponding to code
1356 @ 5% LSPD' i
KVS TGT Work Experience 2018 ® ﬁ TRIP' 7 37t QJSU &
e 'LSPD' ¥ Heifird vreg §-
Ans. (a) : TRAMER,
(a) ROCK (b) CORK
My 3EO (c) PORK (d) RUCK
KVS TGT 2018
Ans. (b) :
teacher B[4 EE (b) P
3d: 'My friend best Teacher' &I HZds HE 3654 B TRIP QIsSU
52. In a certain code language, 'Always Create | |—J'r—f |
Idea' is written as 'gi ba sha', 'Idea New !
Thoughts' is written as 'ma ri gi', 'Idea New ! e .
Solution' is written as 'ri gi to'. How is 'Create = =R
New Solution' written?
Terdit %< ATHT T, 'Always Create Idea’ E) 'gi [CORK —_‘If S PrD
ba sha', 'Idea New Thoughts' I 'ma ri gi' 10y +J I I
'Idea New Solution' <Rl 'ri gi to' for@T ST gar +1
'Create New Solution' &1 h¥l feraT Smam? 55. If 84+29 = 15 and 52+16 = 10, following the
(a) sha i gi same logic the value of 83+25 is:
(b)ri gi ba afe 84+29 = 15 3T 52+16 = 10 &, A 3t TH
(c)bari to T ST I TT 83 + 25 T A &
(d)girito (a) 17 (b) 13
DSSSB-DASS-29/03/2015 () 9 (d) 12
KVS Vice Principal 2018 KVS TGT 2018
Coding/Decoding 14 YCT



Ans. (d) : 579 5R, 3R
84+29 =15 52+16 =10
(8-4)+(2+9)=15 (5-2) + (1+6)
4+11=15 3+7=10
15=15 10=10
34 N,
83+25=7
(8-3)+(2+5)="
5+7=2
12=7?
56. In a code language PRINT is written as
RQGOS. How will DREAM be written as, in
the same code language?/ﬁn‘%‘-ﬁ‘ e HTET T,
PRINT &t RQGOS & ®7 ¥ fer@r Sram &, ar
3t e aTeT & DREAM %A forean s ?
(a) FQCBL (b) EIGBN
(c) CPGBL (d) FTGCO
KVS TGT 2018
Ans. (a) :
o 7=, 34! T,
P RINT D REAM
1+2l— |l—21+ 11—1 ’+2 |—| ‘—2 ‘H |—|
RQGOS
57. 1If 24 =72 and 53 = 152 then the value of 36 is:

afe 24=72353=1528 At 36 HT A T:
(a) 243 (b) 225
(c) 326 (d) 189
KVS TGT 2018

L}

_'*2_)

L}

_'*2_)

+2

P —» | R

~ > T »n
=H QO = C

59. If 253 is coded as 352 and 475 is coded as 574,
then 2317 would be coded as

afe ek Wichfaer WTST W 253 @l 352 T 475
Y 574 Toram Sran §, @ 2317 & feran s

(a) 7321 (b) 7231

(c) 7123 (d) 7132
NVS-TGT/PGT 2016
KVS TGT NER 2017

Ans. (d) : IAER-
2 5 3

BRI

5
3T IR,
2 3 | 7
b
37d: 2317 &I 7132 % &9 | fomar S|

Ans. (a) : 59 R,
2 + @)
8+64 =172

3R,
By +@B)Y=152
125427 = 152

72="172 152 =152
I IR,
(3 +(6)=?
27 +216="?

243 =7
If in a certain code language PARK is written
as RCTM and CROP is written as ETQR, then
how will SHARP be written in that code
lanague ? /ate Tch che HTET T PARK @i
RCTM fer@t S5 e CROP @&t ETQR feran

& A SHARP & SHt e 9T § fohd U

58.

forar s 2
(a) UICTR (b) RGBSO
(¢) CJURT (d) SRBGO
KYVS Principal 2016
KVS TGT NER 2017
Ans. (a) : 59 79K, qar
P 25 R cC 25 E
A 25 C R 2> T
R 2> T 0O 25 Q
K —2> M P 25 R
3 TR,

60. The word RACE is coded as 3124 and LEARN
is coded as 54136, then CLEAR would be coded
as

T Withfeeh W1 § RACE @t feran wmar &
3124 94T LEARN ot fer@am mam & 54136, av

CLEAR & fer@r smam:

(a) 25413 (b) 21354

(c) 25431 (d) 24135

KVS TGT NER 2017

Ans. (a) : 59 7R,
R A C E
il
31 2 4
qqr
L E A R N
A
54 1 3 6
ST SRl % W Gers A T -
C L EAR
11y 1l
(2 5 4 1 3]
61. If 'mew school' is coded as '23', 'school and

teacher' is written as '304' and 'good teacher' is
coded as 14, then 'good new teacher and school'
would be coded as
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Tfe Uk HE 9T ¥ 'new school' Y 23" feram
@, 'school and teacher’ @ 304" fomn S
IR 'good teacher’ &l '14" feran Sl ar 'good

new teacher and school' ST feT@:
(a) 12403 (b) 21034
(c) 20431 (d) 14320
KVS TGT NER 2017
Ans. (a) : TATHR,
—00]
Lo\ @hed— F1A®

&> @D DO
ITdH Fel § WE 2 5 good new teacher and school &
1240 3 foran st

62. Some equations are solved on the basis of a
certain system. On the same basis, find out the
correct answer from amongst the four

alternatives for the unsolved equation./%s

arftervur ferdt fewte guTelt & e W g g
T §1 T IR W, & 7 fRU U wefietor @

T IR fou U =R ferekedt W ¥ A S
4A5=29,6 A7=55TA8="?
(a) 35 (b) 44
(c) 63 (d) 71
KVS TGT NER 2017
Ans. (d) : 59 ¥R,
4A5 = 29
\A
(4x5) + (4+5)
=20+9
=29
R
6A7 = 55
\A
(6x7) + (6+7)
=42 +13
=55
ELIEN
TA8
\A
(7x8) + (7+8)
=56+15
=71
63. In a code language CAPE is coded as 1243 and

HOLD is coded as 5867, then HEAD would be
coded as-

Uk Wichfaer WTST W CAPE & 1243 4T
HOLD & 5867 ferar wmar &1 sHf dichfaen
T & HEAD <Rt forman smam:

(a) 7632 (b) 5327
(c) 8247 (d) 5627
KVS TGT NER 2017
Ans. (b) : f&@T 23— B
C—o1 H->5
A—>2 0—-38
P-4 L—>6
E—>3 D—7
3 STl & BIE F FAM Hh-
H—|5
E—|3
A—|2
D—|7

64. If 312 is written as 6 and 654 is written as 15,

then 978 would be written as /3fg 312 & 6 3T
654 T 15 T ST, <t 978 Y == foran saen?

(a) 17 (b) 19
(c) 24 (d) 27
KVS TGT NER 2017

Ans. (c) : 519 J9R,
312=6
3+14+2=6

AR 654=15

6+5+4=15
3G TR,

978 =7

9+7+8=24

65. In a certain language, ‘min fin bin gin’ means
‘trains are always late’; ‘gin din cin hin’ means
‘drivers were always punished’; ‘bin cin vin
rin’ means ‘drivers stopped all trains’ and ‘din
kin fin vin’ means ‘all passengers were late’.
Then ‘Drivers were late’ would be written as:

@ﬁrﬁvwﬁ 'min fin bin gin' EEI‘HHW%
'trains are always late'; 'gin din cin hin' AT
UaAs ¥ 'drivers were always punished'; 'bin
cin vin rin' T TqAS ¢ 'drivers stopped all
trains' 3T 'din kin fin vin' T Tdesl % 'all
passengers were late'. 'Drivers were late' E)
w8 ferar sm:
(a) min cin din

(c) fin din gin

(b) cin din fin
(d) gin hin min
KVS TGT (Social studies) 2013
NVS TGT Physics 01/06/2014

Ans. (b) : IHMNHR,

gin %@ hin —)-* always punished

H . vin rm—)- smppcd all trams

* km&\m —> all passengers * A

3d: Drivers were late — cin din fin
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66. If 'MOUSE' is coded as "PRUQC", then how is

'SHIFT' written in the same code?/IfC
'MOUSE' &l "PRUQC" & &7 U ehIgslg fehaT

T &, @ St @S ® 'SHIFT' &t &8 foan
GI'I?IT‘% :
(a) VKIRD (b) VKIDR
(c) VJIDR (d) VIKRD
KVS TGT (Social Studies) 2013
Ans. (b) : 59 y&R Ers I Cary
M-S P s,V
0—»R H— K
=y =0,
s =40 F—2»|D
E—2C T—5|R
67. T PALAM Wl &< TET 43 & W €, A
STUTTGART <ht R=IT H&T & T Wehell &7
(a) 145 (b) 142
(c) 146 (d) 148

NVS- TGT/PGT 2016

Ans. (c) 59 TR,

Ans. (d) : 59 99K, 34 TER,
c—1lsn
+1 +1
C———>D I ——> 1]
o—Llsp v—lsw
L—Ls M E—1 5§
D—LsE N—Ls 0
70. Uk fAf¥ora &< W, RANGE &1 &€ 12345 ¥,
RANDOM T &2 123678 &, I 916 MANGO
T e BTT—
(a) 82347 (b) 82543
(c) 82343 (d) 82567
DSSB LDC (30.08.2015)
DSSSB rgHit foterer wiret (17.09.2017)
Ans: (a)
R=1 D=6
A=2 0=7
N=3 M=38§
G=4
E=5
- MANGO = 82347

PALAM - 16+ 1+ 121+ 13=43 T GEROUNY 7 15 1 138 e
I THR, ’ L :
STUTTGART = 19 + 20 + 21 + 20 + 20 + 7 + Ea; g, ii’i, ;? 8; ;’g’ja g’}
1 +18+20 =146 ) 9,14,4,9, ,13,4,9,
68. 3R DRAMA @1 %< 37 & 3R STAGE & 52, DSSSB et fovereh witat (11.06.2017)
@ DELHI & e 3T 217 Ans. (¢) 5/ @R,
(a) 36 (b) 37 GERMANY
(c) 38 (d) 39 VAN
NVS (2016) (| 7 51813 11425
Ans. (c) 59 TR, (siirsht FtaTeT 1 )
DR AMA -
R INDIA —
B i+ 18414134 1=37 72. 4AfE 'sti nro kti' ST 3T 'clouds pour down'
S T A G E E?f, 'nro bsi mit' <l 3T 'down he goes' '@
1l L L 3T 'bsi nro zpi' <Al 3T 'died down he' @‘,Fﬁ‘
9 2 1 7 5 HIT-HT 91T "goes' Thl STTh THTMT?
(a) nro (b) mit
19420+ 1+7+5=52 © kii () bsi
ERURELS DSSSB LDC (30.08.2015)
D E L H I Ans. (b) 5% §-
R sti kii — clouds pour
4 512 8 9
4+5+12+8+9=]g 'T‘*’l ni —rW@A
69. WX 'COLD' &1 %< § 'DPME', @ 'GIVEN' 2pi —» died (o)

W'Hffib?ﬂﬁ'ﬂ:— W:Wmit,goesﬁaﬁﬁml
8 E%?\o/l ?031; Elf\?v?g” 73. afe KASHMIR ﬁ 8142753, fer@r wrar &, o
DSSSB LIBRARIAN- 31/08/2014 St e amr § RIMSHAK &0 fFE warR
NVS (2016) T smam?
Coding/Decoding 17 YCT



(a) 3574218 (b) 3571842
(c) 3521478 (d) 3574812

DSSSB wrgadt foterer wiiat (22.06.2014)

Ans : (a) 59 59K, 3G YR,
R=3
5

—
Il

7

Il
SR
Il

AP T
([
0 — N B

gfe SMILE & TOLPJ for@r et & ar
RASCAL T I R 217

(a) TAREDS (b) SBUHER
(c) SCVGFR (d) TCVGER

DSSSB wrgHdt foterer wdatr (27.07.2014)

74.

Ans : (c) N9 TR,

S M1 L E—T O L P ]

L

+3

+4

+5

RASCAL—)l“C'G R
H M

S
1 T KA

34T TER,

+2

+4

5

+6

75. W AYed g 9T H
'123" @1 37t ¥ 'bright blue sky'
'145" i1 279 € 'dark grey sky'
'378" AT 312 ¥ 'nice blue wall'
- W& 'bright' T HIS §?
(a) 1 (b) 2
() 3 (d) 4
DSSSB wrgadt foterer wdiatm (27.07.2014)

Ans : (b)

OBE - G el @

@ 4 5 = dark grey @
7 § = nice wall

T 2 % bright 1 S TE&m 2' 21

5
>~
s
>0

+3 ’I‘T"

Ans : (a) 59 TR,
+3
'f'3
+3
+3

\I/ICTORY—)YL‘
+3
3

—)E

34 THR,

SU(‘CESS—>|VX ~’—”HV\|

I +3 TT7F .
+3
+3
+3

+3

3

+3

77. Uah Ty ST Ugfa § EDUCATION &l
531278946 T wrar &1 3Ht ugfer # NOTICE
fore gar ferar smam?

(a) 648935 (b) 649825

(c) 648925 (d) 643965

DSSSB UEHd f¥rerer witer (27.07.2014)

Ans : (¢)

5
3
1

C

E
D
U
A

7

T=8
1=9
0=4
N=6
4l RIfET 1 T T W NOTICE = 648925

78. TUWeh THfy=ra i 9Tt H, 'ble nee see' AT 312 &
'where are you' T 'mee tim see' <hT e ¥
'who are you'l 9162 'where' T ehIS &IT &7
(a) nee (b) ble
(c) tim (d) see
DSSSB Urgwit frereh widiem (27.07.2014)

Ans : (b)
ble|nee see — arem
nee tim see — who are you

—>

—

nee are/you

see you/are

76. afe VICTORY @t YLFWRUB, f7@T ST € || @ & 5 ‘where’ 7 $IE ‘ble’ BN
at et e TG d SUCCESS i fh YT |79, e ffverd @S wioT § "ROUTE" &1 "47289"
feran se? TAT "GEAR" &I "5914" forat Sram 31 54t @i
(a) VXFFHVV (b) VXEEHVV aTeT ¥ "GATE" fer@ yerr fera smaem?
(c) VYEEHVV (d) VYEFIVV (a) 5187 (b) 5189
DSSSB yrgwdt ftereh wliam (27.07.2014) (c) 5289 (d) 5429
DSSSB WTgHdt et 02/04/2014 DSSSB wrEwit Rteres wharm (27.07.2014)
Coding/Decoding 18 YCT



Ans : (b) 3G TR,
ROUT E GE AR —
| | | | | | | | | 62 + 72 =(6+N-2+2)=13-4=9
T 84. @Af FLATTER @t 7238859 feman wmar & aem
;j CATE - s10 MOTHER & 468159 fo@r wmar g @@
i MAMMOTH & fof| yerr feram smem?
80. T 5566 =22,1753 =16,3624 =15 &, T 7254 =7 (3) 4146481 (b) 4346481
Eg 5 EE; }g (c) 4344681 (d) 4344651
DSSSB WTgHT foteren wdiet 2014
DSSSB wrzw Rterer udter (28.09.2014
Ll ) DSSSB TGT 28.12.2014
Ans : (d) 59 IR, R e—
5+5+6+6=22 o B
1+7+5+3=16 F=7 M=4
3+6+2+4=15 L=2 0=6
3 TR, /T\:s H=1
TH+2+5+4= E _ s
31 wv fog & S8 18 B R=9
81. afe D=4%, 3fX BAD =7 &, @ ANT & 96 || . MAMMOTH = 4344681
= §? 85. U TU9IY Wiehfads oM o '1, 2, 3' T WA
(a) 8 (b) 17 'bright little boy', '1, 4, 5' T HA@S 'tall big
(c) 35 (d) 37 . . - . et
DSSSB TGT ((28.12.2014) E(;y :'ﬁ;ﬂ?, gl’ _;1 nga bea“.tlf".l ht:::r
Ans. (c) : @ D=4 we o )
g whm, TaeTd 'bright' BT & 7
B A D=7 (@) 2 (b) 4
(¢) 5 (d) 6
R (faTeT W) DSSSB LIBRARIAN 31/08/2014
2+1+4=7 DSSSB WTgHT fotaren wdietr 2014
SRR Ans : (a) 39 @,
AN T=35
Yl (afarer ow) A 2 bright [little
1+14+20 =35
82. dfT PEAR & GFDN feT@T ST df REAP i A 4 5 tall  big
Hehdaeht (Cod ferar smamm?
b (Code) & 6 7 beautiful flower
(a) DNGF (b) NDFG : .
(C) FDNG (d) NFDG 3d: brlght?ﬂ g 2 ﬁ‘ﬂl .
DSSSB WTEH{t foterh whiem 2014 | 86. ek Ta9ry Wichfaeh WTOT ®, Ueh W&AT 13479 &l
Ans: (d) 59 ¥R, ELIIRCOS AQFJL & &7 ¥ for@r wrar & 3 5268 <l
P E AR R EAP DMPN & ®q ¥ fom@r Smar €1 396824 & 3/
Ll Vil i s o 2
GF DN NF DG (a) QLPNMIJ (b) QLPMNF
83, T 54+43=2,60+51= 10,97 62 +72="2 (c) QLPNDF (d) QLPNMF
(a) 20 (® 9 DSSSB wrewdt fterer uidiam 2014
(c) 30 (d) 18 Ans: @)
DSSSB UrEwRt foterer e 2014 :
Ans : (b) 519 ¥R 3
ns: (b) : 134709 526 8
54+ 43 = (5+H)—@d+3)=9-7=2 lllll llll
AQF J L DMPN
(6+5)—(0+1)=11-1=10 s
60 + 51 = - =11-1= ~
1 1 IUE Fel b FAN T 396824 H QLPNMF for S|
Coding/Decoding 19 YCT



87. W& My e #, ‘faet fe ' &1 waes grar
£, TS AR T’ 3R ‘gow frer W @ e
AT E, R AW Y1 'T1e o e = e ¥
(@) & (b)

(c) fAe (d) fe=1
DSSSB PGT (30.11.2014)
Ans. (d) o2 -

fafT® = &MY
T A ¥ = Gm M 7
et &1 Fe - VY

H H HE - AN

‘T H FE — AW

3T BT BT P f BT

88. U Tfya &e T 'XYZ' T UdeTs § 'we are
friends', 'PYN' T WaeS €, 'they are boys',
'ZMS' <hl AdAd %‘ 'we love them', 'we' 0y
THI-HT ST T 27
(a) Z () Y
() S (d) M

DSSSB o1& W&t THeT (26.04.2015)

Ans. (a) :

X Y

= are friends
Y N = They are boys

P
M S love them

FAd: We &I 3R Z gRT 31ar 7= 21

89. AREA=1,B=2,C=3,D=4 0 @& &, af
forer e fory fere e §7
8 5 1 18 20
(a) HEART (b) ADHER
(¢) HEARD (d) HARME

DSSSB WIET A& ST Tam (28.12.2014)
Ans.(a):wmmﬂﬁ%ﬁ%wmél

91. usx fifyem @I W & DAUGHTER &I
TERDAUGH fomar wmar &1 St @i wr &
APTITUDE f&® y&r forar smam?

(a) DUEAPTIT (b) DAUEPTIT
(c) DEUAPTIT (d) UDEAPTIT
DSSSB &S s wiiarm (29.06.2014)

5

4
I

o
o=
oo
0=
oo
- tn

3 6
T ——.
Tfg et vt § u?am B ARCE L]
g U= ey ST S A =1,B=3,C =599
Tt YRR =T MW &, a "HATE" 91s &
378 T HT WA Tehe=T grm?
(a) 68 (b) 64
(c) 62 (d) 60
DSSSB 2T hitaet THa (29.06.2014)
Ans : (b) df% 3fIh Fuimren § gE owm @ famw
g 7 few w1
.. HATE=15+1+39+9
T fAfyora g 9T & SAARC &1 CRAAS
forET Smar &1 S @is Wit § KASIM foRa
YehIX feran stae?
(a) MSIAK (b) MISKA
(c) MSIKA (d) MISAK
DSSSB 3T ikt THat (29.06.2014)

ns: (d) 59 IR,

12345 54321

SAARC— CRAAS

3 TR,

12345 54321

KASIM
Teor (94-96) : F=feRaa SHed @t ufen qer 3=

Wﬁﬁ?ﬁ'{'aﬁﬁ‘l‘l{:

!

93.

¢ ¢ byl T e s s
| 18 20 "demand and supply economics" & "mo ta pa
90. @ﬁﬁgaﬁz%wﬁr 'nic tin sip' EI-T[BW?% ka"ﬁ‘i’@TG‘lﬁT%l
'where are you' 'tin pic sip' <hT atef € 'how are "demand makes supply economics" & "zi mo
you' T& ¥ 'how' o ToTT wI9-wT i 7 ka ta" feT@m et
(a) tin (b) sip "money makes only part" & "zi la ne ki"
(c) pic (d) nic e st 21
DSSSB HIET AT gAY Tia (28.12.2014) "economics is not money" T "ka la ho ga"
Ans. (¢) TETER- ferar wrar g1
tin F IS —> are/you 94. & it g WTT H 'economics' T THIT AT §?
sip bl FE —> you/ are (a) ta (b)  mo
(c) pa (d) ka
#1: how & ferw 15 pic &1 DSSSB 3T wiaet wiam (29.06.2014)
Coding/Decoding 20 YCT



Ans: (d)

demand and supply —)mu to pa @
demand supply —)A mo @ ta

only Part %A@ ne ki

37d: W 2 % 'economics' & HIE 'ka' 2|

95. ‘Q&Tﬁﬁ'a’ﬁ?{ wreT o 'money'ﬂ?[a'ﬁ?a'w%?
(a) ga (b) mo
(©) la (d) ta
DSSSB 3T ikt That (29.06.2014)

Ans : (¢) STTH TY I A § W ? % &I 1 HiE
9T # 'money' 1 HIE 'la’ 2

96. ‘tﬁ"’ﬁﬁ'ﬂrﬁ@ v o 'makes'iﬁril-ﬁ?{w%?
(@) zi (b) mo
(¢) pa (d) ne
DSSSB 3T hitser Thal (29.06.2014)

Ans : (a) ST I & = § W ? % 3 ™ #e
Wﬁmakes?ﬂaﬁ’éziél

"rise with every challenge" I "snk rtv Ine

riy" T <ar §
"facing challenge each day" ) '""ngi riy ncp
hus" @ ST
98. RIS "Ine" oAt T 37ef §7?
(a) Facing (b) With
(c) Every (d) Rise
DSSSB T2 & are= uitarr (29.06.2014)

Ans. (¢) :
{Tacing: problems health —> mlp hit igi: [snk]

Fll;lﬂllh problems on —> hit sa&mlp
iaung each day —;»nl_:,'i nep hus
;. W 8 fF Ine &1 379 every BT |
99, IS "riy rtv snk" <ht SF=IT 3ref %?

(a) Rise above challenge
(b) Rise health challenge
(c) Day rise challenge
(d) With rise challenge
DSSSB T2 & are= witarr (29.06.2014)

Ans. (d) : STE HIE & K,
riy rtv snk — With rise challenge

100. f=feRad & | SIF-HT "facing" T IS &2

97. Ue ffyera i 9T ¥ YIELD "B 6 4 @ %"
for@T AT & WOT PLANT "$ @ 2 * ©" for@n (a) ncp (b) rtv
. (c) ngi (d) snk
AT &1 SHY @IS 9T § DELAY foR® W DSSSB 2 7 TS THAT (29.06.2014)
feram smem? Ans. (¢) : STIH HIE % IR,
(a) %42@p (b) %4@2p facing — ngi
(c) %24@p (@) $234p 101. fr=faRaa & 9 foFEe &I "riy snk mlp" &
DSSSB 2 hitearet Ta (29.06.2014) TR 7
Ans : (b) (a) Problems every day
Y I EL D (b) Challenge with health
l VLl (c) With health day
3 ) (d) Every challenge facing
a[ren 4 8a8% DSSSB #1277 ATET AT (29.06.2014)
P LANT Ans. (b) : STH HIE & R,
l l l l l riy snk mlp — Challenge with health
S @2 * © 102. afE ACE o 318 @l 135 o & § whiSag
~ feram ST qem BAD o 31 Wl 214 o ®U W
Dangﬁfraa‘Lmﬁ:{qut— wgeg fham W@ & BED @i fohT WK
[ T e
v /. (a) 215 (b) 254
% 4 @ 2 B (c) 245 (d) 345
THdor (98-101): FrfeRaa SHeRt 1 eTema sHifsT DSSSB = & ard= wfiar (29.06.2014)
e fau 7w woAt & e difwe — Ans. (b) : 3R &I IS FUATAT & A § AR fhaT
we Fifyre s s ™ 2l
"facing problems with health" ST "mlp hit ngi ACE — 135
snk" fer@T ST & BAD — 214
"health problems on rise" T "hit sa rtv mlp" & TR,
Coding/Decoding 21 YCT



103. IfE Teh g WTST & AND st BOE AT RENT BE AR
. C
@& SFOU fermm wmar § @t 3#fi wie wen & | )
DEAF Tor® TR et smam? 1 T T
(a) EFBG (b) FEBG +2
(c) EGBF (d) PQRS -1
DSSSB 2= & area whan (29.06.2014) | G (106-109): A A=5,B=6,C =7, D = § AT
Ans. (a) : {579 751, Tt g 3 g % W B A frefeied
AND RENT HeaTatt o avel @ §72
+’l+1l+1 +1l+1 +1f+1 106. 22 25 8225
B O E S F O U (a) PRIYA (b) NEEMA
3G THR, (c) MEENA (d) RUDRA
DEATF DSSSB R fEefie a=Teh (LDC) (16.11.2014)
+i+i*i—i Ans. (d) : F&1 W Tofi 2RI % guidren § W= 79 | 4
EFBG STgeht shifed fohar e 8|
104. T TA=T e | "TREAD" &1 "7%#94" 3R 22 - 4 =18 =R
"PREY" I "$%#8" forar war 31 gt e ® 25 - 4 =21 =>|U
"ARTERY" &# fer@m smam? 8 — 4 = 4 =|D
(a) 9HT%HS (b)  9#%T#8 2 - 4 = 18 =|R
(©) 9%T7#%8 (d)  9%#7%8 s _ 4 - | =|aA
DSSSB wrgadt foterer wiiatm (21.06.2017)
O 31: 2225 822 5= RUDRA
TREAD 107. 622192718
(a) BROWN (b) WHITE
(c) GREEN (d) BLACK
7 % # 9 4 DSSSB weR feefis s1eh (LDC) (16.11.2014)
o PRE Y Ans. (a) : wﬁﬁw%w@wmaﬁm
6 4 = 2 =|B
LIl p 41 ol
5§ % # 8 19 - 4 =15 =|0
ISTH FIE F WM HH T, 27 — 4 = 23 = |W
ARTETRY
18 — 4 = 14 =|N
J, l l l ll 3T 6221927 18 = BROWN
%7 # %8| 108. 17192098
105. qas fafyra wig W ¥ MONUMENT &t (a) MOPED (b) PLANE
ONPTODPS @ <rar 1 3§ whig Wt # (¢c) MOTOR (d) TRAIN
BEAR T SIS a7 217 DSSSB R Teefis= a=Teh (LDC) (16.11.2014)
(a) ADBQ (b) DGCT Ans. (a) : 394 T & TTER FT H TN HH W
(c) CDCS (d) DDCQ 7 - 4 = 13 =M
DSSSB &ier fedts= ateh (LDC) (16.11.2014)
19 - 4 =15 =|0
Ans. (d) : 59 ¥R,
MONUMENT ONPTODFPS 20 -4 =16 =|P
| +2 4 1 9 — 4 = 5 =|E
'1_2 8 - 4 =4 =|D
L 3T 17 19 20 9 8 = MOPED
3 109. 22514518
+2 (a) RAJAT (b) BADAL
= (c) RAJAN (d) BIMAL
3G THR, DSSSB weR fEdie aeteh (LDC) (16.11.2014)
Coding/Decoding 22 YCT



Ans. (¢) : ITIH T & IFTTHR He H AT HH T
2 - 4 = 18 =|R
5 -4 =1 =|A
14 — 4 =10 =|7J
5 -4 =1 =|A
18 — 4 = 14 =|N
3T 22514518 = RAJAN

110. TS G IS WIET H,
(a) ""pod na joc" T 31 "very bright boy" 2
(b) ""tam nu pod"' AT a7ef "'the boy comes"' 2l
(c) ""nu per ton'' AT aref ""keep the doll" 2l
(d) "joc ton su'' <hT aref ""very good doll" 2l
wiE W ¥ frAfated W 9@ feder ot

""bright'" &7
(a) na (b) joc
(c) pod (d) ton
DSSSB - DASS (29.03.2015)
Ans. (a)

OI'IlCS

[joc | —blv_ryl brlghtA
tam nu pod

mu per ton —keep the doll

ton su good doll
3: HISUST H 'na' H1 34 'bright' B 1

111. Uk @ g 9T ®, POSTER &l 597813
o <trar & 3 SHAME &t 72641 feram S
21 €t I § HATES & && fer@r wirar 87
(a) 26815 (b) 26417
(c) 26897 (d) 26817
DSSSB - DASS (29.03.2015)
DSSSB wTETt fI1eren udtarm (31.08.2014)
Ans. (d) : TRAMER,
POSTER SHAME
WIlid) el il
597813 726 41
3T HIS & A,
HATES
JIidld
2681 7

112. Tt Ueh @ IS 9ToT |, 'pie vie nie' T 37

% "Winter is cold', 'tol nie rek' <Rl 3ret %
hot'"', 'rek pie boo' <Rl ard &
""Winter and Summer"', 3 'vie tho pa' <Al a1ef
% ""Nights are cold"'l IS HTHT T HIF-6T Ileq

"Summer is

(a) tol (b) nie
(c) pie (d) rek
DSSSB - DASS (29.03.2015)
Ans. (d) :

pie vie &—»\v inter A cold
(ol AN [rel—> Fumme] /A hot
pie boo—»Winter and
vie tho pa — Nights are cold
319 'Summer' 1 HS AT H 'rek' T= T[T B 2l
113. U fafyer@ @i 9ot & DIPLOMAT <t
TAOMLPDI & ®q # ferar wirar 31 et e
T § PROSPECT foh Yerw feram smam?
(a) TCEPSORP (b) TCPESOPR
(c) TCPEOSRP (d) TCEPSOPR
DSSSB urzHdt f¥teren wdtam (31.08.2014)
(b) 519 99,
345678 87564312
PLOMAT—>TAOMLPDI

Ans :
12
DI
7 75 31
C T—)IT CPESOPR|
114. TEl T FHOW 9T § WUARA RT T S

rsg fow T #

dlonot T UASTH ¥ oak tree

blyonot hT AdTS ¥ oak leaf

blycrin ehT Adcid K3 mapple leaf

"mapple syrup" o T h9-HT I1sg THTT?

(a) Blymuth (b) Hupponot

(c) Patricrin (d) Crinweel

DSSSB wvTE{Teh ARt wderm (31.05.2015)

=2}

4
S

T
==l

Ans. (¢)

—> oak tree

0not—> oak
crin —> mapple

.. mapple = crin
ﬁﬁﬁcrinﬁﬁ@@i’:ﬂ?l
3d: fahed (c) T mapple syrup % U Patricrin 913
g
115. Il Uk &HOM 9T § ®UARa Ry 0 O
reg feg T £
Tamceno T AATS § sky blue
cenorax <hl Hddlol % blue cheese
aplmitl <hT AdTS ¥ star bright
"bright sky" * ﬁ’l‘l{ HIT-9T ITeq E'TTIT?
(a) Cenotam (b) Mitltam
(c) Raxmitl (d) Aplceno

dlonot

'Summer' T TEIA AT &2

DSSSB vTE{Teh TfereRrt Tt (31.05.2015)

Coding/Decoding

23

YCT



Ans. (b) :
Tam[ceno] —> sky[blue]
rax —> [blue]Cheese
Aplmitl  —>  star bright
. sky =Tam
bright = apl 3T mitl
faeeT & 3TTHR bright sky % T Mitltam 9152 81

116. TEl Uk HOW 90T ¥ TUTARA AT T &S
1o T T #
gemolinea <hT HAH 2 fair warning
gerimitu AT Aol 2 report card
gilageri ohlT AdTS ¥ weather report
"fair weather" & f%‘l'l{ HIF-9T RIEH %ﬁ"'IT‘7
(a) Gemogila (b) Gerigeme
(c) Gemomitu (d) Gerimita

DSSSB ¥R ARt Twharm (31.05.2015)

Ans. (a) :
gemolinea —» fair  warning
mitu — card
gila —> weather
weather = gila
fair = gemo AT linea
. fomedi & 3IEX fair weather & fau =
Gemogila Il
117. TEl Teh HAA 9T ¥ ®Ur=aRd 7T T &3
vz fa&r & 2
slar &A1 AT & jump
slary T HdeTsl g jumping
slarend T AT & jumped
"playing" & TTT -4 v1eg ERTT?
(a) Clargslarend (b) Cleargy
(c) Ellaclarg (d) Slarmont
DSSSB Wt Jrfirart whan (31.05.2015)
Ans. (b) : N9 99K,
slar

—> Jump
slary —— Jumping

slarend — Jumped

U YHR, 'Playing' % % AT Cleargy ¥1s% 81T
118. Ueh fa9ie s WioT ®, 'lu ra de' &1 HaoTsl &
'what was it'; mo nil' ST WaeTs § 'you go' : 'nil
pam ra' <hl Hdo K3 'you like it'; 'tok lu fo' <hl
EGIGE) % 'she was sick! 370 3T IS T 'what
you like' ! F@ fer@n—

(@) nilralu
(¢) pomralu

(b) pom nil ra
(d) denil pam

Ans. (d)

@
mo N
ANy ®

tok fo she sick
'what you like' &I HIE =
119. T ffyom §e 9w ¥ ‘fues fow T’ &1
e fdeT g wies’’ §, ‘T T ¥
Taed HUT 3 gie’’, {fores o U’ Rt daers
“qzel W wes’’ 3R Y ek ' T A
PR dg A e, e O ¥ VAR H
foTT s —T vreg §7

(a) feb (b) 1
(c) fo=s d =
DSSSB wrgadt foterer et (28.09.2014)

Ans: (b) “Tus g% f8” = fiet == e

“foeh of U = AEEY AR HleT

3A: THY H FE Wk Vg

120. Ueh Wichfdek u™T ¥ NOVEMBER el
ERMBVENO fomar wimar €, ar sdt amr o
DECEMBER &l TerT WehR ferat simaam?

(a) ERMCBEDE (b) ERMECBDE
(¢c) ERMBECDE (d) ERMBCEDE
NVS-PGT (13-06-2019)

Ans. (d) : 59 TR,
NOVEMBER

KK A X

ONEVBMRE—PHRMBVEND
3t TER,
DECEMBER

A A A A

EDECBMRE—ERMBCEDE
121. fdft He& w1 ®  'PRINCESS' @&l
'ECINRPTU' for@m wem g1 3ot e wmr o
'SPICEJET' & feh@ Weh® foram smaemi

(a) JEICPSFV (b) JECIPSGU
(¢) EJICSPGV (d) JEICPSGV
KVS- PRT (22-12-2018)

Ans. (a) : 59 99R,
P R 1 N €C E S S

=

NVS -TGT (2013)

E CI NRUPTU
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3 IFR,
S P 1 C E J E

T

FE T cps T

: fahed (a) T8 B B

122. afe 'MOUSE' &I 'PRUQC' & ®U W higeg
feram wimar &, & S IS | 'SHIFT' &l &d
foran wirar 8-

+1 |12

«—

<

(a) VKIRD (b) VKIDR
(c) VIJIDR (d) VIKRD
NVS -TGT (2013)
Ans. (b)
ISEREES
MOUSE PRUQC
I +3 4 T
+3
+0
2
2
3 JFR,
SHIFT VKIDR
I +3 41
13
+0
-2
-2

123. fdt e 9T & PRINT @t RQGOS feran
AT 81 39 He 9T § DREAM &l {h¥ Y&R

et sram?
(a) FQCBL (b) EIGBN
(¢) CPGBL (d) FTGCO

KVS-TGT (2018)

Ans : (a) 59 991,
PRINT RQGOS

eml

FQCBL
2 T
l —1
—2
+1
=1

124. afg % ¥ CORNER &t GSVRIV feram = ®)
It ®e H CENTRAL & fra e foan

SeT?

(a) DFOUSBM (b) GIRXVEP
(¢c) GNFJKER (d) 39 T FE 78
DSSSB LDC (30.08.2015)

EIEENY
CENTRAL |G XVEP'
| ?1 r E &

3
T3
T3
+4
+4
+4

+4
125. W& Taf¥=@ % ¥ MONKED & OQPMGF
forar Smar €, @ S® ®e ¥ TIGER & ¥
foreT sam?
(a) VKIGT (b) UJHFS
(c) SHFDQ (d) QDFHS

DSSSB yrgwdt ¥tereh wiiam (28.09.2014)

371: TIGER Y158 &1 &< 91 § VKIGT feran e

126. AfE T& &e A FISH i HKUJ fera s €, &t

IH TS | STAB &l =¥ T werm?
(a) UCVD (b) VUCD
(c) UVDC (d) UVCD

DSSSB TGT ((28.12.2014)

127. afg 3T SCHOOL <t TDIPPM forad # =t
COLLEGE &t f@ yerrt forea?
(a) DPMMFGE (b) DNMMOEF
(c) DPPDHIF (d) DPMMFHF
DSSSB tRMAfgeher arftrarit wieff wdfiarm (25.05.2014)
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Ans. (d) : 519 IR,

w
@

128. frdft Uk @ wig 9T § KESHAV &t
NBVEDS fT@m St &1 38 i & PRAMOD

=t Y T Smwm?
(a) SOJDAR (b) SODRJA
(c) SODIRA (d) SDOJRA

DSSSB - DASS (29.03.2015)

129. Us fafye@ wg omom ¥ afe ABSENT =t
BCTFOU fer@r wimar § @t sdft wig wor &
PERSON f&® q&R ferar sram?

(a) QFSTOM (b) QFSTPM
(c) QFSTPO (d) QESTPO
DSSSB wTETt fIteren udtarm (31.08.2014)

Ans : (c) 59 99K,

A B S E NT
+|l+|l+|l+|l+|l+1l
0 U

B C T F
34 TR,
P R S
+Il+l +Il+]l+
[Q S T |
130. Ueh e wg | W "net tim sin" T 37 %
"how are you', "ble net sin" <Rl aref % "where
are you", "where" T SIS &1 §7?

(a) sin (b) tim
(c) net (d) ble

+1

1 [¢——m
Cle—=z

Ans. (d) :
are & HIE —> net/ sin

you & HE —> sin /net
=y 2 f% where & &I ble BN

131. afe TYPEWRITER & GBKVDIRGVI Tt
T § a7 St hig 9T § STENO o8 R
ferar s ?

(a) VMVGH
(b) HGVML
(c) LMHGV
(d) HVLGM

DSSSB UrgHst foterer wirat (22.06.2014)

Ans : (b) 9 ¥%X TYPEWRITER & GBKVDIRGVI
forar w8 @ YR ¥ STENO & HGVML ferarn
ST SIS T8 W SR & Ui R fawe Hifed
[CRIRICIES
132. Tf ATRIIT Tl URR HET T, AER 1 ST Hel

T, T ot 91, 9T i ded AR e

Tt wET W, A W o i We e we

gr?

(a) AT

(b) =g

(c) ST

(d) R

DSSSB LDC (30.08.2015)
Ans. (b) S 97 H ST I 91 el T @ TG S
T @ B A &g d

133. &O UEARH H 3@ WK 38R 3 T §-

1 [2]3J45]6[7[8]9 0
B|laA|[p|c|P |R[Q][s|T
T 3Tel I 9T aTelt T hrT—H 872
PAQMC
(a) 52740
(c) 57204

(b) 52704

(d) 52407

DSSSB Ut foteren udierm (28.09.2014)
Ans : (b) 31 3B & &4 @l e 2-

PAQMC T #1€[52704] ErTr|

134. Tfe v1s¢ PROPER ! REPORP foT@m wrem &
A ANTHEM &Y T ST 9t $—

(a) MEHTAN

(b) MEHANT

(c) MEHTNA

(d) HEMANT

DSSSB WrgHt f¥terer wiiem (31.08.2014)

Ans : (c) S99 YR, PROPER &I 3@ %H § REPORP
foran s 21

34t 56, ANTHEM &I MEHTNA ferar siam)

DSSSB &ier fgdte ateh (LDC) (16.11.2014)
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yreg fmiur we guiHTer udieror

(Word Formation &
Alphabetical Analysis)

1. The letters of a meaningful word are
unarranged and numbered. You have to form
the word and select the option which gives the
correct sequence of letters indicated by the
numbers to form the word.

Teh Trefeh vTsg o 1[I oAl 3reuraferd feram wam
¥ 3R 3% wwifera foram o €1 eueRt ITsg T
fomtor e € o S| fashew @1 @ WU §
T 96T I o TTU WEmeh gRT SR e v
TE A AT 2
E-1, L-4, B-3, D-7, R-2,U-5, A-9
(a) 7529341 (b) 7529134
(c) 7523941 (d) 7259341

DSSSB PRT 27/03/2022 (Shift-11I)

Ans. (a) : ¥ = E-1, L-4, B-3, D-7, R-2, U-5, A-9
DURABLE
IR EN N AN AN AN AN
7529341
i = 7529341
2. Arrange the following words to form a
meaningful sentence.
[ ! AT Tieh Teh Tdqut
ElE2REEBIE
Taj at A quick | look
Mahal
5 1 3 2 4
(a 1,2,3,4,5 (b) 4,3,2,1,5
(c) 5,1,2,3,4 (d 3,2,4,1,5
NVS PGT 18/09/2019 (Shift-I)
Ans. (d) : T 7T vt 1 aftyd FE Wyl A
frrrem g
A quick look at  Taj Mahal
3 @ (CRNCY )
dreg- distAge] 90 Ueh =S|
3. The letters of a meaningful word are arranged

and numbered. You have to form the word and
select the option which is gives the correct
sequence of letters indicated by the numbers to
form the word. )
Tk Wideh Ieg o Al reTdfkerd feRam
T § 3R 3= shuifeRa femarm T B emTueRT vIsg
1 fmtor T € 31 S| faerew ® oo T
T 1 vTeg o9 o ot Heemedt grn g srert
T TE U 24T §
1-2, S-3, N-6, O-1, U-5, E-8, T-7, Q-4
(a) 45837216 (b) 45837162
(c) 47358216 (d) 45836127

DSSSB PRT 29/03/2022 (Shift-I)

Ans. (a) : 91IF I3 & 3T FI AT HY -

I-2, S-3, N-6, O-1, U-5, E-8, T-7, Q-4

ek Y18 o ST H AT A -

QUESTION — 45837216

e wee sH % U demed w1 9 HH 45837216
21

4. The letters of a meaningful word are arranged
and numbered. You have to form the word and
select the option which gives the correct
sequence of letters indicated by the numbers to
form the word.

Teh Wrefeh ITeg o 3N Rl 3redartera feram
T % 3 3% shuifeRd feRam T {1 STUeRT ITeg
=t frmtor s € 3R S0 fasew o1 wem &
2 Y ITeg o o forw weenedt g gt arert
T T T AT 2
A-6, T-2, N-1, B-9, L4, T-5, A-7
(a) 9472615 (b) 9274615
(c) 9476125 (d) 9572614

DSSSB PRT 29/03/2022 (Shift-1II)

Ans. (a) : {53 T3 sTorafted v=a i ARy HH W
OB, @@L (MDA QT (6)A ()NG)T
BLATANT :- (STsR&&)

5. Rearrange the letters given below to form a
meaningful word and from the given
alternatives select the word which is almost
opposite in meaning to the word so formed.
o few T S1aRT W U Sreiuut g S ok
T getafya & 3R fau T famedt & & @
ITeE T oI L W 30 YRR o I16g ok ored o
T feafia 21
E,F,N,G,D,E,N, I, A
(a) CLAMOROUS
(c) STILLY

(b) PLANGENT
(d) SONOROUS
DSSSB PRT 27/03/2022 (Shift-1I)

Ans. (¢) : E,F,N, G, D, E, N, I, A =i ¥ faffa ards

I - DEAFENING (TGS quf)

DEAFENING &1 fqqdid - STILLY (3ifagde)

6. If the every vowel of the word
‘INTERNATIONAL’ is changed to its next
letter in English alphabet and every consonant
is changed to its previous letter in English
alphabet then what should be the fifth letter
from the left?
gfe 916g ‘INTERNATIONAL’ &hT & & 3Tt
HTET o U o AN Ik WA 378 F
e fear WU qen W e Sl v &
FUTHTET AR Ik fUser 31eR | agar fean

T o S 30T | ieraT 78T ST BIT?
(@ Q (b) F
(c) M (d N
KVS TGT 2016

Word Formation & Alphabetical Analysis

27

YCT



Ans. (a) : {1 =1 9182 - INTERNATIONAL
TEAER ST 1 Ffeefid i W,
JMSFIQMBSJPMBK

¢ § gigat 3%R = Q

7. From the given alternatives select the word

which cannot be formed by using the letters of
the given word.

few o foskem § ¥ 3@ IS W TEA wE S
feu U y1eg o &R T WA ohleh FET ST

T Wkl
ENVIRONMENT

(a) NEVER (b) METER
(¢) RIVER (d) ENTRE

KVS TGT 2016
Ans. (¢) : T3 & ENVIRONMENT # 31T 'R' &l
YA I TH AR & g § e fHed (c) F U
RIVER # 31 R' &1 ¥4I & SR g7 21 o faw g
g & ST F1 AN b 3@ IEE H F@l SAEr S
el B
8. Select from the alternatives that combination of

numbers, which will form a meaningful word if
given letters are arranged accordingly.

fra faeul & @ siehl & @ HaIeE & IiT
o & rgan afy fau T sl wr et

Tk ArefeR vIsg o9 W)

ARWLEK

LIid il

123456

(a) 314652 (b) 413652

(c) 251462 (d) 652314

KVS TGT 2016

Ans. (a) : {97 9,
314652 — WALKER Tae =ei aretr
I, faPed (a) T 21
9. From the given alternatives select the word

which cannot be formed by using the letters of
the given word.

feu T fasheat ® 39 vIeg @ T S T T
ITsg o 3Tl ST T ohieh &l SATIT ST Hehal

fow T orsg ¥ arerl % U fomem S ® e
for 27isft autaren & €2
CORPORATION
(a) 4

(©) 2

(b) 1
(d) 3
KVS TGT 2016

Ans. (a) : R4 -
r—

CORPORATIO
L1

—
N

343:@4@@%

11. A word is given. It is followed by four other
words. One out of the four words cannot be
formed by using the letters of given word. Find

that word.

T 912 faan Srar §)1 36k &1 oI 30 91
3T &1 9N vIedl § | U fu e veg & ovewi
T ITANT Tk TEl SATET T el § 36 e

T AT STl

AUTOGRAPHS

(a) ROUGH (b) GRAPH
(c) PATHOS (d) GREAT

KVS TGT 2018
Ans. (d) : &3 T3 7ol sk # 'E' 3R I YA T g3 8
Sefh e (d) GREAT # E 3%R &I Y4 gam € st
T Wk ¥ L S ST Gehr 21
12.

From the given alternatives, select the word
which cannot be formed using the letters of the
given word.

few T et W @ 3W ITeg @ T R g
MY Ieg o SARM K YA GRT A S =

HehdT:
MANUFACTURER
(a) CURRENT (b) NATURE
(c) FRACTURE (d) MANNER
KVS TGT NER 2017

Ans. (d) : MANUFACTURER § MANNER V=& &
ST ST HhaT @ FEifh NANNER # N 3R a aIR- ¥g%
3T € Saf% MANUFACTURER # N #dd T% & ar
R B

2l 13. How many meaningful Engligh words can be
INTERNATIONAL made with the letters 'ATLE' using each letter
(a) INNER (b) RATION only once in each word?/'ATLE' 3181l ¥
(c) LETTER (d) TRAIN atish & forawr arefqul visg o wWaat €, W
‘ KVS TGT 2016 Feh 8 AT Tk ITsg W halel Ueh o1 &1 J=ANT
Ans. (¢) : RT T 997 # 3T E F1 TN Faod Th ax FEATE -
gaN 8 Ve fahed (c) ¥ LETTER # %X E & @ Tword
. : a) Two
YA 3 AR g3 81 3 A AT R o I § b Thre/da
ST ST el B | () . rej;rr{
10. How many such pairs of letters are there in the (c) Four 3
given word which have as many letters between (d) More than four/R ¥ &
them in the word as in the English alphabet? KVS TGT (Social Studies) 2013
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Ans. (¢) : 'ATLE' 3%[ § a4 arc 3OSl & 3fefyof

W_

LATE -

TALE — &g

TEAL —> <Itft/ 9t

LEAT — U=l % UMl o S arell Tal

T T 4 R I Tehd T |

14. Tfs 9155 PERSONALITY o di&R, =9, uterd,
Had qAT THS e W IUSH 1 T Ivefyul
II6g IET U9 &l o IH I16d T TSl 318
igiicLs
(a) O
(©) S

(b) T
(d) R
DSSSB LIBRARIAN (31.08.2014)

Ans. (d) :
PERSONALITY

R R TR

397 49f saf 74 10al
a1effy ¥ ROAST (S7T) ¥I& I Ugell 3T 'R’ §I|
e (15- 17) : Fr=afeRaa v w9 ¥ faeredt & &

UHT 9162 ST S fed T vTeg o 31 W R
FETAT AT Gkl
15. INTELLIGENCE
(a) GENTLE (b) INCITE
(c) CANCEL (dy NEGLECT
DSSSB TgHdt ToTerer uiiat (28.09.2014)

Ans : (c) INTELLIGENCE ¥&8 § CANCEL ¥s& &t
T ST Gehal @ e CANCEL 8 C 37&1 & a- 374
el
16. DECOMPOSITION

(a) COMPOSE (b) ECONOMIST

(c) POSITION (d) DOCTOR

DSSSB urEwd fterer wdrar (28.09.2014)

Ans : (d) DECOMPOSITION ¥ § 'DOCTOR' 7%
TE ST ST Gehel @ FEifsh DECOMPOSITION W8 #
R 3R T g
17. DISAPPOINTMENT

(a) TENSION (b) ATTEND
(c) OINTMENT (d) SAMPLE
DSSSB Wrgwdt et e (28.09.2014)

Ans : (d) DISAPPOINTMENT ¥ ¥ 'SAMPLE' 315
& & ST Hehl & it DISAPPOINTMENT 3rsa #
'L 3R T 2

18. Tr=faRaa ® & fore 9= @t 'PREAMBLE!

e H & aTet 7eR1 § Tl T Fehd 87
(a) MEAL (b) AMBER
(c) PEARL (d) LEARN

DSSSB HIeT aTg= S-Hua=T Uiiar (28.12.2014)
Ans. (d) : 'PREAMBLE' ¥ # & a/f 3l ¥
LEARN & & 11 ST §ehal ifh o1 Wk H TR
N’ &1 31979 21

afe 9168 MEAT & hael &Sl &l 30 YRR
SEAT W foh 399 | Yok IAUSH auiHten |
Te 3R S AT VW e Wl IaRatad @
T, °F 3T 3MeW o AT U U Ucieh A8 ol
TAT %had T & o &d U fha srefae

19.

ITeg & Heht?
(a) T (b) T
(c) @ (d) TR
NVS- TGT/PGT 2016
Ans. (a) :

L MTUE T oA & qd 3R LT S o T a1
& LEAS = (14q0f 1) SEAL - € - a8
3: LEAS § Had T Tqul 9163 S ST Thell 21
20. ‘LUBRICANT’ 9162 & 31l @ frer f & &l A-

T 976 A& ST ST kel &7
(a) RAIL (b) TRAIN
(c) GIRL (d) BRIC

DSSSB W& W&Taeh THat (26.04.2015)

Ans. (c) : {31 T3 I8 ‘LUBRICANT’ ¥ 3%R ‘G’ T
2 37 Weg ‘GIRL’ & s ST Hebell|

21. 'ATLE' 37810 | 3{IIsit o fepa=t o7eiyut visg o

TRl §, T Uedieh 378 T Uedieh 9168 | ohalel

T ST 3T §—
(@ & (b) @
(c) dX (d) =R T it

NVS -TGT (2013)
Ans. (b) 'ATLE' W% ¥ 3Tst & i s1dfqef wisg amm
ST g% &, S 3@ TR §- 'LATE' (27), 'TALE' (S&F),
'TEAL' (311 s7d)
22. U IS T TR ¥ 3W v & ™ OR o=
oreg T & €1 59 O § /U veg ue §
& T 9T & MR T SUANT R @l ST
T HHAT §1 3T I1eg d SaATS |

AUTOGRAPHS
(a) ROUGH (b) GRAPH
(c) PATHOS (d) GREAT

KVS-TGT (2018)
Ans : (d) BT TT 38 AUTOGRAPHS ¥ GREAT ¥i=&
T AT ST Gehar i Y& AUTOGRAPHS # E
3R T 2
23. fou TIq v1sg o 2rell ¥ RE-WT Ueh I1eg SHTET
& T geRar?
SUPERIMPOSABLE
(a) SPIRE
(c) POSSIBLE

(b) REPTILE
(d) REPOSURE

DSSSB LDC (30.08.2015)
Ans. (b) I8 SUPERIMPOSABLE ¥ REPTILE 1=

T FAAT ST HebaT § i g IR H 'T' 3R W 2
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24. 39 I H TUF HiWT W U MU I F
ST | T ST AT el |
COMPREHENSION

(a) COMPRISE (b) PENSION

(c) ONION (d) PREACH
DSSSB wEHt f¥tereR witatm (22.06.2014)
Ans : (d) T 7T 95 "COMPREHENSION" & 3%1
¥ "PREACH" V%% & sHM@T S Tebel ifeh foU @
I H A SRR H 9E B
25. TUeh Y &R ki 3IeWl ° for@m wan € eiR
Iqeh Ag WW vieg fou w € s | = v
TEY Tl RN | A& oI S Wehdl | 39 YIS
! AT SHINTT AT TEX hieA 378/ | fo 78Rt
| T AT Hehall &l
BLANDISHMENT
(a) BOARD (b) METAL
(c) SHAPE (d) CRASH
DSSSB TgHit ToTerer wiiat (22.06.2014)
Ans : (b) RT 7T ¥w& "BLANDISHMENT" ¥ &ad
3 "METAL" &A1 ST Hahell & |

26. TEHRN w1 9 WANH A HiNT SHS
ATAN T I AT I U Teh Tefgut
I & WI:
I A R E T P
1 2 3 4 5 6
(a) 123456 (b) 243615
(c) 461235 (d) 613254
DSSSB gHdt foterer wiiatm (27.07.2014)
Ans : (d) & 2
IARETP
VNN
123456
AT I IE P I R A T E( )
o V3 VI T
61 3 2 5 4
a7a; arefquf w2 & fore gesd o g =[613254]

27. Prafafgs @ ¥ @a9-w o fqu @ ovs
TEMPERAMENT & 372l &7 Udleh 38 &l

HAA Teh TR YART el U &l ST S Wehell &2

(a) TEMPER (b) TESTER
(c) METER (d) PARENT
DSSSB wrgadt foterer wdtatm (27.07.2014)

Ans : (b) Tf% &I T vez F SRR 'S' T 31 M V=

'TESTER' f&T 7T ¥&x & 316RI &l SANT ik =g} s

ST Ghell 21

28. 3@ V& @ AW dwg W fow M owe
ANDROCLES & 78Rl ¥ &l S=1ar ST Wehell 87

(a) ROADS (b) ROSELAND
(c) LANDER (dy DREAMS
DSSSB WTEHt f¥tereR witetr (27.07.2014)

Ans : (d) ANDROCLES ¥ & ‘M’ 3R 31ufRed @
#d: DREAMS Y& & a9 S Gehl 81 31 foeheq
(d) & 21
29. U TMEA &l Udeh I H Ucdeh 318 oAl

HIA Tk IR WA FA gC IS & foha

arefqul ITeg ST T Wkl B 7

(a) 4 () 3

(c) 2 (d) 6

DSSSB WEHt f¥tereR wdiet (27.07.2014)

Ans : (a) 3" TMEA & YII & A0 U 37efqof
3 %A — TEAM, MEAT, MATE, TAME 21 31 4

ol ¥z ST ST T 2

30. PERSONALITY ¥ & g®&l, di@y, =9,
ierd, B3 3R WIad 31l | g arefyul sy
TATAT ST kel & ol SH IIe oAt TR 318
forfam
(@ R (b) S
() N (d A

DSSSB wrgadt foterer et (28.09.2014)

Ans : (¢c) PERSONALITY ¥isZ &% @, R, =,
ufed, BS AN Hidd W H & I ERSONA
REASON ¥&5 57T 3 9Isg &l 31fd 37&R 'N' €I |
31. INTELLECTUAL Y& & 3781 ¥ hl9 9T IIsd

TE T AT Wehdl, TE TaT HiToT-

(a) TALE (b) LAME

(c) LATE (d) ELECT

DSSSB TGT ((28.12.2014)

Ans. (b) : BT 7T 3= 'INTELLECTUAL' &% 3R @
"LAME" J&& 7@ S ST 91 a9 ST MU veE H
'M' 3T FHT FAT T ga 2
Trreferfaa go=i @ fou 7w fasrew # @ 9% vTeg T,

T QU Y ITEET % IR o YEANT | AL S
AT HehelT|

32.  APPROPRIATE
(a) PROPER (b) RAPPORT

(c) PIRATE (d) APPROVE

DSSSB et Rrersh et
Ans : (d) APPROPRIATE 3% H V 3R &1 Y417 &
g3 21 . APPROVE Y& 7t ST ST Hhell 2|

33. 'CREATIONS' 9Is2 & 278/ & 9 o<+ arelr
IT52 UaT ShiteTT-
(a) ACTION (b) REASON
(c) ARSON (d) SEPARATE
DSSSB PGT (30.11.2014)
Ans. (d)

fer 7T ¥se 'CREATIONS' § 3 'SEPARATE' &
AT ST Gehal iTh foU 7T 38 § P SFeR IRy wE
2
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